## CONTRACT

THIS CONT	RACT,	, made and ente	ered into t	this	day o	of		20	, betw	veen
PALM BEAC	CH CC	UNTY, a politic	al subdiv	rision of the	e State o	of Florida, he	ereinafter ref	erred	to as	the
"County" a	and	HINTERLAND	GROWP,	INC.		hereinafter	referred	to	as	the
"CONTRACT	TOR"									

## WITNESSETH:

That the said Contractor having been awarded the contract for the:

Continuing Contract for Wastewater Gravity Lines & Manhole Rehabilitation

Project No.: WUD 18-069

in accordance with the Bid therefore and for and in consideration of the promises and of the covenants and agreements, and of the payments herein specified, to be made and performed by the Contractor and the County, the Contractor hereby covenants and agrees to and with the County to undertake and execute all of the said named work, in a good, substantial and workmanlike manner, and to furnish and pay for all materials, labor, supervision, equipment, supplies, fees, expertise, and services necessary to fully complete all work in accordance with all requirements of the Contract Documents and in accordance with all Federal, State, and local laws, rules, and regulations, within the time limit specified in the Bid Form. The Contract Documents consist of the following documents which are incorporated herein by reference.

- A Invitation to Bid, Instructions to Bidders, Bid Form and Attachments 1 through 6.
- B Completed Bond and Guarantees.
- C General Conditions.
- D Supplemental Conditions.
- E Special Conditions.
- F Technical Specifications dated September 16, 2018.
- G Addenda.
- H Drawings dated N/A/.

Contractor agrees to accept as full compensation for the satisfactory performance of this Contract the sum of \$\_5,993,256.00 . The prices named in the Bid are for the completed work and all expense, direct or indirect, connected with the proper execution of the work of each Work Authorization and of maintaining the same until it is accepted by the Board of County Commissioners. It is understood that the Contractor holds and will maintain current appropriate certification and/or license for the purpose of performing the specified work pursuant to this Contract. The time limit for the Substantial Completion of all work under this contract shall be as stated in the Bid Form. The date fixing the beginning of this period upon the calendar shall be established and stated in the Notice to Proceed. The contract term is 24-months, with one (1) optional twelve month contract renewal (and any additional time needed to complete issued Work Authorizations). The contract may be awarded to one PROJECT NO WUD 18-069

or more lowest responsive bidders. (and any additional time needed to complete issued Work Authorizations). The amount shown above is the maximum amount for all Work Authorizations which may be issued under this Contract. The County has <u>no obligation</u> to issue any Work Authorizations thereunder.

IN WITNESS WHEREOF, the Board of County Commissioners of Palm Beach County, Florida, has made and executed this Contract on behalf of the said County and caused the seal of the said County to be affixed hereto, and the Contractor has hereunto set his hand and seal the day and year written. The Contractor represents that it is authorized to execute this contract on behalf of itself and its

Surety.  ATTEST: SHARON R. BOCK CLERK AND COMPTROLLER  DUM	PALM BEACH COUNTY, FLORIDA, A Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS  By: Mack Bernard, Mayor
APPROVED AS TO FORM AND LEGAL SUFFICIENCY Assistant County Attorney	APPROVED AS TO TERMS AND CONDITIONS  Jint Stiles, Director Water Utilities Department  'CONTRACTOR'
Marcy Cabanas (witness signature)  MARCY CABANAS (witness name printed)  Amily Mana	By: HINTERLAND GROWF INC (Corporate Name)  a FLUXIDA (insert state of corporation)  By: (signatory)  CHASE ROCERS
(witness signature)  Emily Minage (witness name printed)  (Corporate Seal)	(print signatory's name)  ANTHONIZED SIGNATOR  (print title)  November 28th, 2018  (date)
	Contractor's Official Address)  RIVIERA BEACH, FL 33404  (Contractor's City, State, Zip Code)

## **BID FORM**

PALM BEACH COUNTY PROJECT NO.: WUD 18-069 DATE: 10/16/2018	
To: Palm Beach County Board of County Commissions Water Utilities Department 8100 Forest Hill Boulevard West Palm Beach, Florida 33413	ers
From (Name of Bidding Firm): Hinter and Group, Inc. Address: 2051 W Blue Heron Blvd, Ríviera Beach, FL 33404	
Address: 2001 VV blue Helon blvd, Riviera beach, FL 33404	
1.1 Having carefully examined the Bid Documents and Continuing Contract for Wastewater Gravity Lines & Ma WUD 18-069 as well as the premises and conditions affect was visited, as required, by	anhole Rehabilitation, PROJECT NO.:
Chase R Rogers - Authorized Signator on 10/12/2	2018
(Printed Name) (Dat	
the undersigned hereby declares that no person or persundersigned, are interested in this proposal as principals collusion with any person, firm, or corporation, and we hexamined the Bid Documents, and that we have made a proposed work and the source of supply of materials, and verticals, labor, supervision, equipment, supplies, fees, examplete all work in accordance with all requirements of the all applicable codes and governing regulations within the tifollowing Base Bid.	, and that this proposal is made without ave carefully and to our full satisfaction a full examination of the location of the ve hereby agree to furnish and pay for all xpertise, and services necessary to fully e Bid Documents and in accordance with
Price:Five Million. Nine Hundred Ninety-Three Thousand, Two	Hundred Fifty-Six Dollars and Zero Cents
(written out)	
(\$ 5,993,256.00 ) which sum	n is hereinafter referred to as the
(numeric)	"Base Bid".
1.2 The undersigned acknowledges that it has included not less than five percent (5%) of the total amount of its Base	with its Bid the required Bid Security for e Bid.
.3 The Bidder shall be bound by the terms of its Bid P	roposal for a period of one hundred fifty

(150) calendar days from the date of the bid opening and may not withdraw its Bid within that time period. If the County issues a Notification from County within the above 150 day period, then the Bidder will be bound by the Bid Proposal as submitted. If the County fails to issue a Notification from County to the successful Bidder within the above identified 150 day period, the successful bidder will not be required to honor its Bid Proposal unless otherwise agreed to by both parties. County

anticipates, but does not guarantee the award of bid and written notice to proceed within ninety (90) calendar days of Notification from County, absent the filing of a timely bid protest.

- 1.4 The County's established goal for SBE participation for this solicitation, inclusive of all alternates and Work Supplements, is 15%. The total can be met through the use of any SBE certified by Palm Beach County. This goal is a minimum and no rounding will be accepted.
- 1.5 It is agreed that the undersigned has received all addenda complete as issued by the County and that related costs are included in the bid submitted. The undersigned acknowledges receipt of said addenda as follows:

Addendum #	N/A dated	Addendum .#	dated	
Addendum #	dated	Addendum#	dated	

- 1.6 Time is of the essence. The undersigned Bidder agrees that, if awarded the Contract hereunder, it shall commence the work to be performed under each Work Authorization on the date set by the County in its written notice to proceed, continuing the work with diligence and shall Substantially Complete all work within the time set forth in the Work Authorization.
- 1.6.1 Should the Contractor (or in the event of a default, its Surety) fail to achieve Substantial Completion by the contractually established date for each Work Authorization, the County will suffer damages, the amount of which is difficult if not impossible to ascertain, and the County shall be entitled to Liquidated Damages as specified for each calendar day beyond the Contractual end date, until certification of Substantial Completion and acceptance has been given by the County. The Liquidated Damages rate is \$1,000.00 per calendar day through the date of certification of Substantial Completion.

Should the Contractor (or in the event of a default, his Surety) fail to achieve Final Completion within thirty days from the date of Substantial Completion, the County will suffer damages, the amount of which is difficult if not impossible to ascertain, and the County shall be entitled to Liquidated Damages as specified for each calendar day greater than thirty beyond the date certified for Substantial Completion. The Liquidated Damages rate is \$500.00 per calendar day.

Liquidated Damages due the County may be deducted from payments due the Contractor, or may be collected directly from the Contractor or his surety or sureties. The liability of the Contractor and its Surety or Sureties for delay damages shall be joint and several. These provisions for liquidated damages shall not prevent the County, in case of the Contractor's default, from terminating the right of the Contractor to proceed as provided in General Conditions.

- 1.7 If the undersigned is notified of the acceptance of this bid, the Bidder agrees to execute within fourteen (14) calendar days, a Contract for the above work, complete with all required insurance certificates and bond forms, and any resolutions or other documentation the department may reasonably require.
- 1.8 The undersigned does hereby declare that the Bid covers all expenses of every kind incidental to the completion of said Work and the Contract therefore, including all claims that may arise through damages or other causes whatsoever. The undersigned does hereby declare that it shall make no claim on account of any variation from any estimate in the quantities of Work to be done, nor on account of any misunderstanding or misconception of the nature of the Work to be done or the grounds, subsurface conditions, or place where the Work is to be done.

### 1.9 (Only needed for Federally Funded Projects)

Statement of Participation in Contracts Subject to Nondiscrimination Clause. The Bidder shall complete the following statement by checking the appropriate boxes:

The Bidder has ( ) has not ( ) participated in a previous contract subject to the nondiscrimination clause prescribed by Executive Order 10925, or Executive Order 11114, or Executive Order 11246.

The Bidder has ( ) has not ( ) submitted all compliance reports in connection with any such contract, due under the applicable filing requirements; and that representations indicating submission of required compliance reports signed by proposed subcontractors will be obtained prior to award of subcontracts.

If the Bidder has participated previously in a contract subject to the nondiscrimination clause and has not submitted compliance reports due under applicable filing requirements, the Bidder shall submit a compliance report on Standard Form 100, "Employee Information Report, EEO-1" prior to the award of the Contract.

## 1.10 ENCLOSURES:

ATTACHMENT NO. 1	BID BOND
ATTACHMENT NO. 2	SMALL BUSINESS ENTERPRISE/MINORITY AND WOMEN
	BUSINESS ENTERPRISE SCHEDULES
ATTACHMENT NO. 3	CERTIFICATION OF BUSINESS LOCATION
ATTACHMENT NO. 3a	CERTIFICATION OF BUSINESS LOCATION GLADES
	SUBCONTRACTOR
ATTACHMENT NO. 4	LIST OF MAJOR SUBCONTRACTORS
ATTACHMENT NO. 5	TRENCH SAFETY
ATTACHMENT NO. 6	MINIMUM EXPERIENCE REQUIREMENTS FOR CIPP LINER
	CONTRACTS

(The remainder of this page left blank intentionally)

Respectfully Submitted,

Hinterland Grou	ıp, Inc.								
(Name of Biddin	g Firm)		····						
2051 W Blue He	eron Blvd, Riviera	Beach, FL	33404	(561) 640-	3503				
(Address)			<del></del>	(Phone)					
info@hinterland	lgroup.com								
(Email Address)		and the same							
		Market Ma		a	O: 1				
By:				Authorized	Signato	·r			
(Authoriz	ed Signature)		1. (a) (b) (b)	ONDAN	<b>.</b>				
Chase R Roge			ENCY COP	PORAZE 3	3,00				
(Printed I	Vame)		τ S	EAL "	, 3				
			. Ju	ine 26, 2006	Till y				
State of Florida		<del></del> .	J. C.	ORIDA	Ş				
County of Palm	Beach		"HAMMAN	14 Manual Contract of the Cont					
Sworn to (or	r affirmed) a	nd sub	scribed	before me	e on	10/16	S/2018 	(date)	by
hase R Rogers - Auth	orized Signator(nar	<u>ne).</u>							
He/She is person identification) as i	nally known to me	or has p	resented	Market and American				(typ	e of
Ocho 1.	Cha ann				ì		CMI	VALENC	
Notary Public Sign	nature and Seal				1		State of Flor	Y MENG	Public
Print Notary Name	e and Commissio	n Number	r Emily Me	eng - GG2402	228		Commission My Comm	rission Exp	1228 ires
Above Bidder is:					1	- mante	July	19,2022	
Above bluder is.									
( Corporation ( ) Other (Plea	n ( ) Part se Specify	nership/Jo	int Ventur	re ( ) So	le Prop	rietorship			
CONTRACTOR D	ATA:								
Bidder's License o Number (a	r Certificate s <u>applicable): <sup>CG</sup></u>	C1520354	/ CUC122	4634 / EC13	003615				
Contractor's	Federal	Tax	No:		_	20-51568	344		
					_			-	

# SCHEDULE OF BID PRICES

Project No.: WUD 18-069
Project Name: Continuing Contract For Wastewater Gravity Lines & Manhole Rehabilitation

Bid Item	Item	Onantify	Unite	Unit Price	Total
No.					10101
	Point Repair (open trench), 4" through 8" Gravity Pipe (up to 5.9' deep)	400	L.F.	\$160.00	\$64,000.00
2	Point Repair (open trench), 4" through 8" Gravity Pipe (6' to 7.9' deep)	400	L.F.	\$200.00	\$80,000.00
3	Point Repair (open trench), 4" through 8" Gravity Pipe (8' to 9.9' deep)	300	L.F.	\$250.00	\$75,000.00
4	Point Repair (open trench), 4" through 8" Gravity Pipe (10' to 11.9' deep)	150	L.F.	\$350.00	\$52,500.00
5	Point Repair (open trench), 4" through 8" Gravity Pipe (12' to 13.9' deep)	150	L.F.	\$450.00	\$67,500.00
9	Point Repair (open trench), 4" through 8" Gravity Pipe (14' to 16' deep)	150	L.F.	\$550.00	\$82,500.00
7	Point Repair (open trench), 10" through 12" Gravity Pipe (up to 5.9' deep)	400	L.F.	\$150,00	\$60,000.00
∞	Point Repair (open trench), 10" through 12" Gravity Pipe (6' to 7.9' deep)	400	L.F.	\$200.00	\$80,000.00
6	Point Repair (open trench), 10" through 12" Gravity Pipe (8' to 9.9' deep)	300	L.F.	\$300.00	\$90,000.00
10	Point Repair (open trench), 10" through 12" Gravity Pipe (10' to 11.9' deep)	150	L.F.	\$400.00	\$60,000.00
11	Point Repair (open trench), 10" through 12" Gravity Pipe (12' to 13.9' deep)	150	L.F.	\$450.00	\$67,500.00
12	Point Repair (open trench), 10" through 12" Gravity Pipe (14' to 16' deep)	150	L.F.	\$550.00	- \$82,500.00
13	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (up to 5.9' deep)	150	L.F.	\$120.00	\$18,000.00
14	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (up to 5.9' deep)	150	L.F.	\$120.00	\$18,000.00
15	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (6' to 7.9' deep)	50	L.F.	\$140.00	\$7,000.00
16	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (6' to 7.9' deep)	95	L.F.	\$150.00	\$7,500.00
17	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (8' to 9.9' deep)	40	L.F.	\$140.00	\$5,600.00
18	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (8' to 9.9' deep)	40	L.F.	\$170.00	\$6,800.00

PROJECT NO.: WUD 18-069

Rev 7-11-17

BID FORM - 6

Bid Item No.	llem.	Quantity	Units	Unit Price	Total
19	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (10' to 11.9' deep)	40	L.F.	\$190.00	\$7.600.00
20	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (10' to 11.9' deep)	40	L.F.	\$200.00	\$8,000.00
21	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (12' to 13.9' deep)	40	L.F.	\$150.00	\$6,000.00
22	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (12' to 13.9' deep)	40	L.F.	\$200.00	\$8,000.00
23	Single Lateral Replacement with Cleanout Installation (Removal and Installation) (14' to 16' deep)	40	L.F.	\$180.00	\$7.200.00
24	Double Lateral Replacement with Cleanout Installation (Removal and Installation) (14' to 16' deep)	40	L.F.	\$220.00	\$8,800.00
25	Replacement/Repair (open trench), 4" to 8" Force Main (3' to 8' deep)	10	L.F.	\$1,500.00	\$15,000.00
26	Replacement/Repair (open trench), 10" to 16" Force Main (3' to 8' deep)	10	L.F.	\$2,500.00	\$25,000.00
27	Replacement/Repair (open trench), 18" to 24" Force Main (3' to 8' deep)	9	L.F.	\$3,500.00	\$21,000.00
28	Gravity Sewer Main Cleaning and TV Inspection (6" through 12" Pipe)	30000	L.F.	\$4.00	\$120,000.00
29	Gravity Sewer Main Cleaning and TV Inspection (15" through 30" Pipe)	2000	L.F.	\$5.00	\$25,000.00
30	Gravity Sewer Lateral (4" through 8") Cleaning and TV Inspection from Main (up to 30')	1000	Each	\$180.00	\$180,000.00
31	Gravity Sewer Lateral (4" through 8") Cleaning and TV Inspection from Main (greater than 30')	4000	L.F.	\$0.50	\$2,000.00
32	Mechanical Root and/or Grease Removal (12" pipe or smaller)	10000	L.F.	\$4.00	\$40,000.00
33	Mechanical Root and/or Grease Removal (16" to 30" pipe)	4000	L.F.	\$6.00	\$24,000.00
34	Mechanical Tuberculation/Concrete Removal 16" pipe or smaller)	8000	L.F.	\$8.00	\$64,000.00
35	Protruding service connection removal by internal means	40	Each	\$200.00	\$8,000.00
36	Exploratory Excavation in Grass or Non-paved Area (up to 5' deep)	40	Each	\$600.00	\$24,000.00
37	Exploratory Excavation in Asphalt or Concrete Area (up to 5' deep)	20	Each	\$800,00	\$16,000.00
38	Exploratory Excavation in Grass or Non-paved Area (greater than 5' deep)	100	V.F.	\$50.00	\$5,000.00
39	Exploratory Excavation in Asphalt or Concrete Area (greater than 5' deep)	100	V.F.	\$50.00	\$5,000.00
40	Cleanout installation (open trench) in grass area (up to 5' deep)	400	Each	\$250.00	\$100,000.00
PROJECT NO	PROJECT NO.: WUD 18-069 BID FORM - 7 Rev 7-11-17				

Bid Item No.	Item	Quantity	Units	Unit Price	Total
41	Cleanout Installation (open trench) in asphalt area (up to 5' deep)	150	Each	\$400.00	\$60,000.00
42	Cleanout Installation (open trench) in concrete area (up to 5' deep)	50	Each	\$500.00	\$25,000.00
43	Cleanout Installation (for grass, asphalt or concrete surfaces) per V.F. beyond 5' in depth	100	V.F.	\$25.00	\$2,500.00
44	Install CIPP Liner for 6" Gravity Sewer Main (up to 8' deep)	400	L.F.	\$60.00	\$24,000.00
45	Install CIPP Liner for 8" Gravity Sewer Main (up to 7.9')	12,000	L.F.	\$28.00	\$336,000.00
46	Install CIPP Liner for 8" Gravity Sewer Main (8' to 11.9' deep)	12,000	L.F.	\$28.00	\$336,000.00
47	Install CIPP Liner for 8" Gravity Sewer Main (12' to 16' deep)	1,000	L.F.	\$30.00	\$30,000.00
48	Install CIPP Liner for 10" Gravity Sewer Main (up to 7.9')	8,000	L.F.	\$32.00	\$256,000.00
49	Install CIPP Liner for 10" Gravity Sewer Main (8' to 11.9' deep)	8,000	L.F.	\$32.00	\$256,000.00
50	Install CIPP Liner for 10" Gravity Sewer Main (12' to 16' deep)	1,000	L.F.	\$34.00	\$34,000.00
51	Install CIPP Liner for 12" Gravity Sewer Main (up to 7.9')	400	L.F.	\$34.00	\$13,600.00
52	Install CIPP Liner for 12" Gravity Sewer Main (8' to 11.9' deep)	200	L.F.	\$45.00	\$9,000.00
53	Install CIPP Liner for 12" Gravity Sewer Main (12' to 16' deep)	200	L.F.	\$45.00	\$9,000.00
54	Install CIPP Liner for 16" Gravity Sewer Main (up to 7.9')	400	L.F.	\$45.00	\$18,000.00
55	Install CIPP Liner for 16" Gravity Sewer Main (8' to 11.9' deep)	200	L.F.	\$60.00	\$12,000,00
56	Install CIPP Liner for 16" Gravity Sewer Main (12' to 16' deep)	200	L.F.	\$65.00	\$13,000.00
57	Sewer Lateral grouting in preparation for a T-Liner installation	400	Each	\$50.00	\$20,000.00
58	Install T-liner in 6" to 16" Sewer Mains with 4" to 6" Sewer Laterals (include 25' of lateral at all depths)	08	Each	\$3,500.00	\$280,000.00
59	Install CIPP liner in 4" to 6" laterals at all depths (25' of lateral)	95	Each	\$2,100.00	\$105,000.00
09	Install CIPP liner in 4" to 6" laterals at all depths (per L.F. beyond 25' of lateral length)	200	L.F.	\$50.00	\$10,000.00
61	8"x6" PVC Tee or Wye with Coupling	50	Each	\$300.00	\$15,000.00
62	10"x6" PVC Tee or Wye with Coupling	90	Each	\$400.00	\$20,000.00
63	12"x6" PVC Tee or Wye with Coupling	20	Each	\$500.00	\$25,000.00
49	Seal visible infiltration through manhole walls, bench and invert (brick manhole)	20	Each	\$500.00	\$10,000.00
65	Seal visible infiltration through manhole walls, bench and invert (concrete manhole)	20	Each	\$500.00	\$10,000.00

Rev 7-11-17

PROJECT NO.: WUD 18-069

Bid Item No.		Quantity	Units	Unit Price	Total
99	Repair Sewer Manhole bench and invert	30	Each	\$300.00	\$9.000.00
29	Replace Sewer Manhole bench and invert	30	Each	\$400.00	\$12,000.00
89	Wall Repair/Build Up for Excessive Interior Wall Surface Loss of Sewer Manhole	200	SQ. FT.	\$25.00	\$5,000.00
69	Replace Sewer Manhole Ring & Covers (in street pavement)	70	Each	\$900.00	\$63,000.00
70	Replace Sewer Manhole Ring & Covers (in non-paved area)	70	Each	\$750.00	\$52,500.00
7.1	Install Sewer Manhole Inflow Protectors	250	Each	\$55.00	\$13.750.00
72	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 4' to 5.9' feet deep)	4	Each	\$6,000.00	\$24,000.00
73	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 6' to 7.9' feet deep)	4	Each	\$8,000.00	\$32,000.00
74	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 8' to 9.9' feet deep)	2	Each	00.000,6\$	\$18,000.00
75	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 10' to 11.9' feet deep)	2	Each	\$10,000.00	\$20,000,00
76	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 12' to 13.9' feet deep)	2	Each	\$12,000.00	\$24,000.00
77	Install New Standard Precast Concrete Sewer Manhole (4-ft Diam. 14' to 16' feet deep)	7	Each	\$16,000.00	\$32,000.00
78	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam. 4' to 5.9' feet deep)	2	Each	\$6,500.00	\$13,000.00
79	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam. 6' to 7.9' feet deep)	2	Each	\$7,500.00	\$15,000.00
80	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam. 8' to 9.9' feet deep)	2	Each	\$8,500.00	\$17,000.00
81	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam. 10' to 11.9' feet deep)	2	Each	\$8,500.00	\$17,000.00
83	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam, 12' to 13.9' feet deep)	2	Each	\$10,000.00	\$20,000.00
83	Install New Outside Drop Precast Concrete Sewer Manhole (4-ft Diam. 14' to 16' feet deep)	2	Each	\$12,000,00	\$24,000.00
84	Install 6" through 12" PVC Drop Pipe (inside) For Existing Manholes (for all depths)	10	Each	\$500.00	\$5,000.00
85	Demolition/Removal & Disposal Existing Sewer Manhole	10	Each	\$1,500.00	\$15,000,00
PROJECT NO	PROJECT NO.: WUD 18-069 BID FORM - 9 Rev 7-11-17				

1					
Bid Item		Out on title		Tlait Daile	T.4.1
No.		Laminy	SIIID	Ount Frace	TOTAL
98	Install cementitious manhole liner for precast manhole	200	V.F.	\$220.00	\$44,000.00
87	Install cementitious manhole liner for brick manhole	200	V.F.	\$200.00	\$40,000.00
88	Install cementitious manhole liner with epoxy overlay for precast manhole	100	V.F.	\$225.00	\$22,500.00
68	Install cementitious manhole liner with epoxy overlay for brick manhole	100	V.F	\$210.00	\$21,000.00
8	Install urethane seal	10	Each	\$600.00	\$6,000.00
91	Preconstruction Manhole Survey (Condition Assessment Level 1)	1,000	Each	\$30.00	\$30,000.00
92	Preconstruction Manhole Survey (Condition Assessment Level 2)	1,000	Each	\$85.00	\$85,000.00
93	Removal of Existing Coating/Lining	1,000	SQ. FT.	\$8.00	\$8,000.00
94	Smoke Testing of Gravity Sewer Mains and Laterals	20,000	L.F.	\$0.35	\$7,000.00
95	Asphalt Driveway Replacement (Restoration)	1,100	SQ. YD.	\$65.00	\$71,500.00
96	Concrete Driveway Replacement (Restoration)	400	SQ. YD.	\$65.00	\$26.000.00
26	Asphalt Pavement Removal	1,500	SQ. YD.	\$2.00	\$3,000.00
86	Concrete Pavement Removal	200	SQ. YD.	\$4.00	\$2,000.00
66	Asphalt Pavement Overlay (1.5" thick, Asphalt Type S-III: 20 to 100 tons per work area)	200	Tons	\$250.00	\$50,000.00
100	Concrete Sidewalk Replacement	1,100	SQ. YD.	\$55.00	\$60,500.00
101	Asphalt Sidewalk Replacement	1,100	SQ. YD.	\$45.00	\$49,500.00
102	Concrete Curb and Gutter Replacement	1,000	L.F.	\$30.00	\$30,000.00
103	Density Test	150	Each	\$45.00	\$6,750.00
104	Proctor Test	20	Each	\$100.00	\$5,000,00
105	Sod Replacement (St Augustine, Bahia or Bermuda)	10,000	SQ. YD.	\$4.00	\$40,000.00
106	Demucking with Imported Clean Fill	4,000	CU. YD.	\$18.00	\$72,000.00
107	Maintenance of Traffic (M.O.T.)	30,000	L.F.	\$0.75	\$22,500.00
108	Pre-Construction Video	30,000	L.F.	\$0.50	\$15,000.00
109	4" Line Stop	8	Each	\$2,500.00	\$20,000.00
110	6" Line Stop	8	Each	\$3,000.00	\$24,000.00
111	8" Line Stop	80	Each	\$3,400.00	\$27,200.00
112	10" Line Stop	4	Each	\$4,100.00	\$16,400.00
113	12" Line Stop	4	Each	\$4,400.00	\$17.600.00
PROJECT NC	PROJECT NO.: WUD 18-069 BID FORM - 10 Rev 7-11-17				

Bid Item			•		
No.		Quantity	CIBIES	Unit Price	Total
114	16" Line Stop	4	Each	\$7,200.00	\$28.800.00
115	8" DIP/PVC C-900 Gravity Sanitary Sewer Main 0' to 8' deep	200	L.F.	\$100.00	\$20,000.00
116	8" DIP/PVC C-900 Gravity Sanitary Sewer Main 8' to 16' deep	200	L.F.	\$120.00	\$24,000.00
117	8" DIP/PVC C-900 Gravity Sanitary Sewer Main 16' to 22' deep	400	L.F.	\$160.00	\$64,000,00
118	10" DIP/PVC C-900 Gravity Sanitary Sewer Main 14' to 16' deep	200	L.F.	\$150.00	\$30,000.00
119	10" DIP/PVC C-900 Gravity Sanitary Sewer Main 16' to 18' deep	400	L.F.	\$160.00	\$64,000.00
		A) SUBTOT.	AL BID (Bic	(A) SUBTOTAL BID (Bid Items 1-119)	\$5.057,600.00
120	Mobilization/Demobilization (3.5% of Subtotal Bid Price (A))	_	L.S.	3.5%	\$177,016.00
121	Additional Work not included in Bid Items (15% of Subtotal Bid Price (A))		L.S.	15%	\$758,640.00
	(B) SUBTOTAL ADDITIONAL WORK BID PRICE (Bid Items 120-121)	ORK BID PI	RICE (Bid I	tems 120-121)	\$935,656.00
		TO	TAL BID P	TOTAL BID PRICE (A + B)	\$5,993,256,00

# TOTAL BID IN WORDS INCLUDING DOLLARS AND CENTS:

Five Million, Nine Hundred Ninety-Three Thousand, Two Hundred Fifty-Six Dollars and Zero Cents

(The Total Base Bid Price is to be written in numerical figures above. In case of discrepancies, the unit price shown for each bid item shall govern and the

corrected Total Base Bid Price shall be calculated as such.)

BID FORM - 11

## **ATTACHMENT NO. 1 TO BID FORM**

PROJECT NO.: WUD 18-069

PROJECT NAME: Continuing Contract for Wastewater Gravity Lines & Manhole Rehabilitation

DATE: 10/12/18

# **BID BOND**

# STATE OF FLORIDA

## COUNTY OF PALM BEACH

KNOW ALL MEN THESE PRESENT: That we, Hinterland Group, Inc. (hereinafter called "Principal"), and Berkley Insurance Company (hereinafter called "Surety") are held and firmly bound unto Palm Beach County, a Political Subdivision in the State of Florida, (hereinafter called "County") in the sum of Five percent of bid amount Dollars, (\$ 5% of bid amount ), lawful money of the United States of America, for the payment of which sum will and truly to be made, we bind ourselves, our heirs, executors, administrators and successors, jointly and severally, firmly be these presents;
WHEREAS, the "Principal" contemplates submitting or has submitted a bid to the Board of County Commissioners, Palm Beach County, Florida, for furnishing and paying for all necessary labor materials, equipment, machinery, tools, apparatus, services, all state workmen's compensation and unemployment compensation taxes incurred in the performance of the Contract, means of transportation for and complete Construction of: Continuing Contractfor Wastewater Gravity Lines & Manhole Rehabilitation (Project Number: WUD 18-069) in the County of Palm Beach, State of Florida; and
WHEREAS, it was a condition precedent to the submission of said bid that a certified check cashier's check, money order or bid bond in the amount of five percent (5%) of the base bid be submitted with said bid as a guarantee that the bidder would, if given a Notification from County, enter into a written contract with the County, and furnish a public construction bond in an amount equal to one hundred (100%) of the total Contract, within fourteen (14) consecutive calendar days after the County issues the Notification from County.
NOW THEREFORE, THE CONDITIONS OF THIS OBLIGATION ARE SUCH that, if the bid of the "Principal" herein is accepted and said "Principal", within fourteen (14) consecutive calendar days after written notice being given of such acceptance, (I) enter into a written contract with the County and (ii) furnishes a public construction contract bond in the amount equal to one hundred percent (100%) of the total contract amount and in a form satisfactory to the County, then this obligation shall be void. If the Principal fails to complete (i) and (ii) above, the sum herein stated shall be due and payable to the "County", and the "Surety" herein agrees to pay said sum immediately upon demand of the "County", in good and lawful money of the United States of America, as liquidated damages for failure of said "Principal".
IN WITNESS WHEREOF, the said Hinterland Group, Inc. as "Principal" herein, has caused these presents to be signed in its name, by its Activated by its Activated Security, and attested by its Activated Attorney-in-Fact, and attested by its corporate Seal, this 20 day of September, 20 18.
(All bid bonds shall use this form except for certified cashiers check)

ATTEST:	1	(SEAL)
(Signature)	animin.	Hinterland Group, Inc. (Contractor Name)
MASO POWERS ST	wand Grover	(Contractor Namo)
(Printed Name)	SEAL	Ву:
	SEAL  June 26, 2006  CORIDA	DANTEL DUKE III (Printed Name)
	Mannan Mannan	Title: PRESEDENT
		Address 2051 W. Blue Heron Blvd.
		Riviera Beach, FL 33404
ATTEST:		(SEAL)
Just Wine		Berkley Insurance Company
(Signatûre)		(Surety Name)
Candy Wagner (Printed Name)		By: 5/12
		Taylor D. Wagner (Printed Name)
		Title: Attorney-in-Fact
		Address 475 Steamboat Road
		Greenwich, CT 06830

(Bidder to attach valid Bonding Company Power of Attorney)